If x2is the highest power in your equation
then you have a quadratic graph the y axs
[t wil have & parabola shape

Quadratic graphs
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Quadratic Gray
Substitute the x vabes into the equation of your Ine to find the y coordnates
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Coordnate pars for potting (—3, 0)

Phot all of the coordinate pairs and join the points with a curve (freehand)
are aways symmetrical with the tuming point in the midde

Single. evertt probabilty

Probabilty s alweys a vale between 0 and |

The probabity of getiing a ble bal & é
~The probabity of NOT zetting a ble bal s %

hterpret other grai Recwrocal Graphs
Cubie Graphs
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f 2355 the highest power in your equation
then you have a cuble araph
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Exporential Graphs
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Exponential
graphs have a
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The sum of the probabilties is 1
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The table shows the probabilty of selecting a tupe of chocolate
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Dark Milk White

015 035

Plwhte chocolate) = | — 0.5 — 035
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Mathematical Language:

Biased
Chance
Cubic

Event
Independent
Inequality
Origin
Parabola
Probability
Quadratic
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Relative Frequency
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